


DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 1.

For Single Track Embankment.
C

EEERERE

&9/0

<
m‘
wg'u

w

9.9
10.9 |
11.9
12.9
13.9
14.9
15.9
16.9
17.9
18.9
19.9
20.9
21.9
22.9
23.9
24.9
25.9 |
26.9 |
27.9
28.9
29.9
30.9
31.9
32.9
33.9
34.9
35.9
36.9
37.9
38.9
39.9
40.9
Mﬂg

Lo

(VLEVL)

TR WO O
ok ok ek ok ok ok
Tt LN~ OO

COOoOOCOOO
"lu—QCIJP-OCD{‘L

29 1o O 19 B0 b b0 b b

"l:;A:lJll\.Jl'—‘OOO:

Y R B P e R R R R e s e e R R R e e R s D e e e R T

N WO-=OOwW

-3

N

Pt ot ok ok ok ok ok o

00 00 30 00 00 30 50 G0 %0 00

ot ok ok ok ok ok ok o ok
—
SOOI Ut GO =

D

b0 b

DO DO BN BO B bt et
NOORWNHO©WN
ot et
9 b =

I=t=Y=1=X:
TH 09 RO = O €0 00 ~1 03 Gt i G0 hO 1= O €0 00

RO E OO U W OO0

Ll W) S W J ) M H; l § ) i {1 e

T H QO B -

oo
=33
%)
SO
1O 1O RO RO DO O hO

N B DO DD BD DD DO B bt e ot ok ok ok ot ok ot

B b

o=
I
BO DO B B DI B DD DO B b=t bt bt et ek ot ok ok o o

O B0 B B Y B b BN b
L1 OV = O = O DO

s % 1
Pt b ot ot ot ok ok ot fd ok ok ok o ot ok ok ok ok o ok ok ok ok o ok ok o

N

b

0 19 hO B9 BO DO hO RO b b

WO O WO~ Ut = 00

00 DO B DY D DO b B )

AT OT Ot Ot

SO
€O N b
3
@

09 GO &
Eias
©0 ¢
5 G 0o

AN

W= OO W]
T O = O © 00~

s 00 LD =
SCoocoOooOooo00o0ocooo00o
oo )
Qo I:&AS,JLJb—t
=
Gt L

> 00 00 0O B9 09 ORI B b

%0 00 &0 B0 20 G0 5o G0 G0 G0 G0 00 &0 5o B0 GO GO GO O

(=20

o
)9 09 €9 GO
eR

S}

¢

2
3
9
o
Q¢
o
9
O
a9
o
9
o
o
(5}
Q
o

€ OB WRNHOOONS O W OO 00 r 28
B0 b2 B9 bO B 10 b I B9 BY B Y B B b b9 bO b9 B9 b9 b9 b b B9 b b b b bo s
e LU VU RV RO R UL
NEOLWONSC
e ©

W
Co b =
b et et
S S G0 G0

T WO WOW=I

T QO DD -
Tttt &

B s i S 0
A
G

DO
o
B i B G0 00 09 09 69 09 G

IO ¢

PN WO DN O WL SLw: ¢ OLWNS Uy
ESEN BN PR N B PR ESEN EXEXEN TN ERES PRER PR ES PURK TR R PR RA PR PR PSR PRUTE PR RE HE DO PETR PO T P gt

T
~1
o0

©0 02 00 00 L0 G0 09 LY L0 GO L0 G0 0o 00 0V 0O 0o L0 To GO o G0 o 00 0o 00 89 00 00 60 G0 GO o 0o G 0o

[ O LN ST e
O~ Gt C
W R e e e
TSI TS

W
e
=]
e

Example—If point is 22.6 ft. above grade, how f r line
to be a slope stake point? Ans. from Table 30.6. For same slopes but other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
»xample above, for 20 ft. roadbed dis will be 30.6+4(20—16)+2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 114 see inside of back cover.
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one ter{th tl;li
fizures opposite width considering the heights from 1 to 9 as tc‘nths‘. Thusif w =16.2 and

\ =5.3, cu. yds. =1.484-.028+.089 =1.597 cu. yds. or practically 160 cu. yds. per 100 ft.

1f wexceeds 40 £t., use one half and multiply result by 2,if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the following rule. To the triangle of the sum of the outside cuts (or fills)
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to e:\?h
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h’s)
always subtracting the outer from the inner,

DISTANCES FROM .CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 17)s.
For Single Track Embankment.
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Example—If point is 22.6 ft. above grade, how far should it be from center line to
e a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by one-half difference in width of roadbed; thus in example
tbove for 20 ft. roadbed distance will be 41.94-(20—16)+2 or 2 ft. added to 41.9 =43.9,
%'or slopes of 1 on 1 see inside of front cover.

Made in Germany.




